© Maltiplos de 3: 18 - 24- 42 - 48 - 51- 57 @ vcp 28 4»=14 MCD. (36 54 - 18
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Q2-2223 € vcp. 6.8 -2 M.CD. (6,9) = 3
M.CD. (8, 12) = 4 M.CD. (16, 24) = 8
©@3x-235 M.CD. (30,45) = 15 MCD. (30, 36) = 6
©5-555
Pagina 28
Pagina 23 @ 10-20-30-40-50-60-70-80
©c-23 8=2-2-2 € Miltiplos de 2: 2-4-6-8- 10
9=3-3 10=2:5 Miiltiplos de 3: 3-6-9-12- 15
12=2 2+ 5 15=53¢5 Multiplos de 4: 4 - 8 - 12 - 16 - 20
16=2 2 2.2 18 =233 Multiplos de 6: 6 - 12 - 18 - 24 - 30
20=2-2-5 25-5-%5 Miiltiplos de 7: 7 - 14 - 21 - 28 - 35
2y 32 = 2 20 et 7 Multiplos de 9: 9 - 18 - 27 - 36 - 45
35=5-7 40=2-2- Miltiplos de 11: 11 - 22 - 33 - 44 - 55
50 =2 525 54 =2:5-53 Muiltiplos de 20: 20 - 40 - 60 - 80 - 100
60=2-2-3-5
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Pégina 24 o m.c.m. (6, 9) = 18
o Divisores de 8: 1-2-4-8 o m.cm. (2,3) =6 m.cm. (3,5) =15
Divisores de 9: 1 -3 -9 m.em. (10,15) =30  m.cm. (8, 12) = 24
Divisores de 10: 1 -2 -5 - 10
Divisores de 15: 1 -3-5-15 Péginu 30
Divisores de 16: 1 -2 -4-8 - 16
Divisores de 18: 1-2-3-6-9 - 18 ©ncm 69-23-3-18
e mcm, (4,8 =2-2-2=8
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© vcm @ n=2-2-33-36
€ vcp. 218 -6
Q mem 0 12=2-2-3-5-60
€ vcp. @ e =2 MCD. (6, 9) = 3
M.C.D. (8, 12) = 4 M.C.D. (10, 15) = 5 Pagina 31
Pagina 26 € ncnm G, AEHE g e 0,19 19
m.c.m. (4, 10) = 20 m.c.m. (10, 15) = 30
€ vcp. 2,18 =6 mem. (8,12) =24  mem. (6, 8) = 24

m.c.m. (8, 20) = 40 m.c.m. (6. 10) = 30
€@ vcp. 0,15 -5 _
m.c.m. (8, 16) = 16 m.c.m. (6, 15) = 30

© vcp. 20,30 - 10 mem. (9,12) =36 m.cm. (15, 30) = 30




